
Rev: 18-04-16

JustinW
Typewritten Text
For more information contact our team: service.ec@foagroup.com







JustinW
Typewritten Text
Prepare 6 bolts assembly by inserting lock washer (#B), then flat washer (#C) onto bolts (#A). Align HB legs (#3R/L) to the holes of the headboard (#1). Secure by using bolts (#A).

JustinW
Rectangle

JustinW
Typewritten Text
1) Loosen the bolts attached to headboard (#1) and footboard (#2), then hook the side rails (#4) to the loosed bolts on the headboard (#1) and footboard (#2).
2) Tighten the bolts on the headboard (#1) and footboard (#2) to the side rail hooks (#4).

JustinW
Rectangle



JustinW
Typewritten Text
Align center slat drawer (#5) to the side rails (#4), then secure by using screws (#K).

JustinW
Typewritten Text

JustinW
Rectangle

JustinW
Typewritten Text
Align support leg (#9) to the hole of the center slat drawer (#5), then adjust leveler of the support leg (#9) according to ground level.

JustinW
Rectangle



JustinW
Typewritten Text
Prepare 2 bolts assembly by inserting lock washer (#G), then flat washer (#H) onto bolts (#E). Align drawer support rail (#10) to the holes of the footboard (#2) and center slat (#5). Secure drawer rail (#10) to center slat (#5) by using bolts (#E), then secure drawer rail (#10) to footboard (#2) by using screws (#K).

JustinW
Rectangle

JustinW
Typewritten Text
Unscrew knobs on the inside, then secure knobs to the outside of the drawers (#12).

JustinW
Rectangle



JustinW
Typewritten Text
Align slat support (#8) to the hole of the bed slat without marking (#6). Secure by using bolts (#F).

JustinW
Rectangle

JustinW
Typewritten Text
Align slat support (#8) to the holes of the bed slat with marking (#7). Secure by using bolts (#F).

JustinW
Rectangle

JustinW
Typewritten Text
Align slats (#6,7) to the side rails (#4).

JustinW
Rectangle



JustinW
Typewritten Text
Secure slats (#6,7) by using screws (#K).

JustinW
Rectangle

JustinW
Typewritten Text
Align concealed panel (#11) to the slats (#6,7). Secure by using screws (#L).

JustinW
Rectangle

JustinW
Typewritten Text
Please see diagram in steps 10.

JustinW
Rectangle



JustinW
Typewritten Text
ASSEMBLY COMPLETED



Rev: 18-04-16

JustinW
Typewritten Text
For more information contact our team: service.ec@foagroup.com







JustinW
Typewritten Text
Prepare 6 bolts assembly by inserting lock washer (#B), then flat washer (#C) onto bolts (#A). Align HB legs (#3R/L) to the holes of the headboard (#1). Secure by using bolts (#A).

JustinW
Typewritten Text

JustinW
Rectangle

JustinW
Typewritten Text
1) Loosen the bolts attached to headboard (#1) and footboard (#2), then hook the side rails (#4) to the loosed bolts on the headboard (#1) and footboard (#2).
2) Tighten the bolts on the headboard (#1) and footboard (#2) to the side rail hooks (#4).

JustinW
Rectangle



JustinW
Typewritten Text
Align center slat drawer (#5) to the side rails (#4), then secure by using screws (#K).

JustinW
Rectangle

JustinW
Typewritten Text
Align support leg (#9) to the hole of the center slat drawer (#5), then adjust leveler of the support leg (#9) according to ground level.

JustinW
Rectangle



JustinW
Typewritten Text
Prepare 2 bolts assembly by inserting lock washer (#G), then flat washer (#H) onto bolts (#E). Align drawer support rail (#10) to the holes of the footboard (#2) and center slat (#5). Secure drawer rail (#10) to center slat (#5) by using bolts (#E), then secure drawer rail (#10) to footboard (#2) by using screws (#K).

JustinW
Rectangle

JustinW
Typewritten Text
Unscrew knobs on the inside, then secure knobs to the outside of the drawers (#12).

JustinW
Rectangle



JustinW
Typewritten Text
Align slat support (#8) to the hole of the bed slat without marking (#6). Secure by using bolts (#F).

JustinW
Rectangle

JustinW
Typewritten Text
Align slat support (#8) to the holes of the bed slat with marking (#7). Secure by using bolts (#F).

JustinW
Typewritten Text

JustinW
Rectangle

JustinW
Typewritten Text
Align slats (#6,7) to the side rails (#4).

JustinW
Rectangle



JustinW
Typewritten Text
Secure slats (#6,7) by using screws (#K).

JustinW
Rectangle

JustinW
Typewritten Text
Align concealed panel (#11) to the slats (#6,7). Secure by using screws (#L).

JustinW
Rectangle

JustinW
Typewritten Text
Please see diagram in steps 10.

JustinW
Rectangle



JustinW
Typewritten Text
ASSEMBLY COMPLETED




